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2. Exercises

1.1 Define the following acronyms:
ASIC, CAD, CD, CO, CPLD, DIP, DVD, FPGA, HDL, IC, IP, LSI,
MCM, MSI, NRE, PBX, PCB, PLD, PWB, SMT, SSI, VHDL, VLSI.

1.2 Research the definitions of the following acronyms:
ABEL, CMOS, DDPP, JPEG, MPEG, OK, PERL(Is OK really an

acronym?).
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1.3 Draw a digital circuit consisting of a 2-input AND gate and
three inverters,where an inverter is connected to each of the AND gate’s
inputs and its output for each of the four possible combinations of inputs
applied to the two primary inputs of this circuit determine the value
produced at the primary output. Is there a simpler circuit that gives the

same input/output behavior?






